= AH O
N = 0 &8 AF S & Al A
2010 20A LEHSIH nSHHY ~ DSHH
2N NS#HE
Mz TANWNE 4 (5L NE/UHESLUS - S FSIIE
ERl: O - SISANSXH2HA X (e dS)
o - _ _ bSRE Y=
2AH -3 - SH2A(SH) - MEAMY - BHES 0] AFCH @;OH Hns
nEd 42,731,698 69,272,273 N26,540,575
= 200,000
o= 115,344
=2 599,981
Al 41,816,373
CANDNE EHHLSLNS/HEDE - SFSIIE 39,802,525 67,021,463 N27,218,938
= 200,000
== 115,344
2 599,981
Al 38,887,200
o2 - SISANSIASLEAME IS 39,802,525 67,021,463 N27,218,938
= 200,000
< 115,344
= 599,981
Al 38,887,200
HIALAEABAZ(EX) 180,461 154, 164 26,297
== 35,344
= 11,696
Al 133,421
207 AR IH | 9,500 0 9,500
01 A=A 9,500 0 9,500
OANIHA 2EAS HFH U2 ol8EH Y
AR 9,500,000 « 14! 9,500
301 LEtEAS 170,961 154,164 16,797
o= 35,344
= 11,696
Al 123,921
12 JIEIEA S 170,961 154,164 16,797
OEXLd &ABAZ(01Y) 170,961,000& 170,961
< 35,344
2 11,696
Al 123,921
SNEX2XS 33,334,000 60,000,000 26,666,000
307 GI2t0IH 33,334,000 60,000,000 26,666,000
09 22+9HEXZ2 33,334,000 60,000,000 /26,666,000
O/SHU(ZHA) M2 B8 AMEENSA
8xX2 33,334,000,000& 33,334,000
HAXSBSIALS 747,831 1,420,568 N672,737
201 Lt AH| 182,400 135,960 46,440
01 AFE222|H] 4,000 4,000 0
O1.4BtEH| 4,000
-HAEBHEH 29 dEt=2H| 4,000,000& 4,000
02 B22gH4| 178,400 131,960 46,440
O1.2Z222HAl 111,600




S DS
Mo CADS 2H3H(LSLNS/HELS - ERSIIH)
SOl 02 - HEXNSISSALXR (Etel &8
= o MuE o
SA - H L SR(SH) - HRAMY - BS 0 & 24 e HRE2
“HANBAAY 22R2 111,600
SAFRA D ¥ S2I| AEE
25,0002« 11074 A %12 33,000
SHHOIE MSH % ARSEE ALEE
1,500,0009! * 128 8,000
TEAXY B2 MRS
15,0002 * 19074 * 122 34,200
"BIT IR 20,00080%11074 A *122 26,400
O3. A& ZHIRXIHI 66,800
~HACHE X BISRUI 0IXHIS
1,520,000 *40CH 60,800
~HANBHE RXE4H 500,0008 128 6,000
401 AlAHIL R THY| 565,431 1,284,608 AT19,177
01 A& 561,975 1,280,000 AT718,025
OB AZ 2 AIAE(BIS) 3% TEAIL
480,000,0002 * 14} 480,000
OBISAIE |X 24 2 Hy| 81,975
~HIEfAlAE 502,500, 0002 *3% 15,075
~MIE S/ 325,000, 0002 3% 9,750
—HE AAY 1, 100,000,000 3% 33,000
2% HEA oHY D] 805,000, 00021 *3% 24,150
03 A& CH| 3,456 4,608 A1,152
OB AFZAIAR(BIS) 3% PEAIY AL
bl 480,000,0002%0.72% 3,456
HERSWI XS 2,032,963 2,424,213 £391,250
203 PREXY| 25,000 25,000 0
03 AlMFRYDSETH| 25,000 25,000 0
ORSOEU YRExY| 25,000, 00084 25,000
301 YptEAZ 214,463 162,963 51,500
12 JIEH2 A3 214,463 162,963 51,500
ORNEJNE ANES2E
1,0002 30,0002 *2.5/100+50/ 100+3652 136,875
OREINE #&448
1,0002! #5,000% *1.5/100%50/ 1003652 13,688
OREIIE 2l X2 1, 500! %40, 0000H 60,000
OBHED| 312X LYAHASH SEH X
120,0002! *1CH*30 3,600
OLANHASH 28 282
300, 000! *1CH 300
307 BI2t0IH 1,793,500 2,216,250 £422,750
09 24X 1,793,500 2,216,250 N422,750
OAUHA a2 1,246,000,0002! 1,246,000
ORSIIE0IBK RSB cABHS
5081 %30,000% *3652 547,500
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SN DEHH D
HE: CADS BHEH(LSLDNS/HEDS - 2RSIIEH
ol 012 - SI2NEX2SAI X (S5l & 2
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
AL =0 EHATIE KA (2 F) 3,001,570 1,831,018 1,170,562
= 588,285
Al 2,413,285
301 LB B A 3,001,570 1,831,018 1,170,552
= 588,285
Al 2,413,285
12 JIEH2 A3 3,001,570 1,831,018 f,170,562
ORzss 2x3 1,0002 *5,000% *3652 1,825,000
OAU 2 SOEHA HETR(0/2)
1,176,570,0002 1,176,570
= 588,285
Al 588,285
DEUTSSE HAHA DURA(RE) 400,000 300,000 100,000
= 200,000
= 60,000
Al 140,000
402 RI2AX 20 400,000 300,000 100,000
= 200,000
= 60,000
Al 140,000
01 pIZXEEE 400,000 300,000 100,000
ONEANE FIB HAHA UK &
100,000,000 *4CH 400,000
=2 200,000
= 60,000
Al 140,000
SAYSSAIHA (B E) 65,700 866,500 800,800
301 LPB A 65,700 65,700 0
12 DB A3 65,700 65,700 0
OREIE ANB24E
3,00021 +1,000CH ¥303] %2922 0. 1+0.025 65,700
HENSHDNENHENBHALD (B X) 40,000 0 40,000
= 20,000
Al 20,000
201 LByl 40,000 0 40,000
= 20,000
Al 20,000
01 Attt 40,000 0 40,000
O1.2er+8t| 40,000
SSNSKH DEAHIXT R
20,0002 %2, 0002 40,000
= 20,000
Al 20,000
HHSAAL (DRSS ) (OIEHIIEH 99, 173 97,310 1,863
olEe Y (RS 99, 173 97,310 1,863




SN DEHH D
FH: HH2I I (RS W) (OIEH/IIE)
ol (REST D) chel &
SA - HB B9 (E) - NRAY - Ba S Lo e DS

Aol =] 80,715 79,363 1,352
101 1A H] 80,715 79,363 1,352
02 JIEtXE == 80,715 79,363 1,352

(OFSE=g 80,715

-8 63,447

= 35,985,000 1 35,985

ot's 27,462,000& x1& 27,462

“AARIZRE 4,843

‘o' 7,457 3 x 18 +30Al 2F+ 123 2,685

'et'ag 5,993 »1& «30Al 2Fx 12E 2,158

-tExE 1,920

BH < Xt 40,0003 «2EH =128 960

JIEHS 20,0003 «4H =128 960

-Ag 2 x| 3,540

't 155,000& x 18 12& 1,860

'et'a 140,000& »1E x12& 1,680

-Herassl 50,000 x2H *12& 1,200

-HA S A 130,000 «2&H »12& 3,120

-Gt &I 2,645

‘o' 35,985,000 1 +15/360 1,500

'et'ag 27,462 ,000& 12 x15/360 1,145
A 2E| 18,458 17,947 511
101 el 18,458 17,947 51
03 RIAHAZIZNE S 18,458 17,947 511

O== NS RIIELS 2L 18,458

-JlEs 29,0103 %12 +313& 9,081

-&0= 756,680 * 1 x300% 2,271

-~HEF Ot 756,6803 18 «120% 909

-W S 2 X 30,000 x1E*12& 360

-HAHEXES 50,000 x1H*12& 600

-JtEaE 60,000 x1H*12& 720

- MG A 80,000 «1& 128 960

250t =3 29,0103 x 1~ 1L 122 »50% 175

BN S 29,010 x1H»15& 436

-5 29,010 x1H »52 1,509

“A2elE 5,440 x 18«22 Al 2tx 123 1,437
IPES(+2YDE/UEDE - 22SIIEH 2,830,000 2,153,500 676,500
LR AHXI = 2,830,000 2,153,500 676,500
JIEtRI AT E2 2,830,000 2,153,500 676,500
701 JIEt2IHE &S 2,830,000 2,153,500 676,500
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